H & 0l & AHS B Ml A

A QHEX
M HAPAZH|(VLAERD)

Chel: J1=2 &l EER=E)
SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
QIRIEX 0t 2,156,417 2,129,693 26,724

= 673,200 673,200 0
£ 18,000 18,000 0
< 10,436 10,436 0
= 1,451,817 1,425,093 26,724
= 2,964 2,964 0
HH2IJHI(UAEX L) 72,113 65,614 6,49
Jl=2dsl 72,113 65,614 6,49
JI=23Hl 67,793 61,294 6,49
201 fet=23y| 39,793 33,294 6,499
01 AtR2t2l] 14,386 12,888 1,498
OJ1&Z2H4l 14,386 12,888 1,498
=l
ZE 8,000 x341x12& «26H +120% 8,986 7,488 1,498
2 35234l 25,407 20,406 5,001
osEgss 25,311 20,310 5,001
-SJ|f# 3 2,7403%7,825 21,441 16,440 5,001
glol er=ols 2Ry 28 236,916 235,926 990
= 46,805 46,805 0
= 190, 111 189, 121 990
MBS BIRAHIA 236,916 235,926 990
= 46,805 46,805 0
= 190, 111 189, 121 990
Ay gesd 64,668 63,678 990
201 er2&y| 35,374 34,384 990
01 AtR2t2l] 22,058 21,068 990
ORlgs=22 JIIEZN 22 4,752 3,762 990
-MEIHE HEs2
Z& 150,000,000 *2. 2% 3,300 2,310 990
& gl (XA 1,847,182 1,828,153 19,029
= 626,39% 626,39 0
s 18,000 18,000 0
< 10,436 10,436 0
s 1,189,387 1,170,358 19,029
= 2,964 2,964 0
selgt NAEgE2e 130,3%4 119,648 10,746
= 3,050 3,050 0
= 127,344 116,598 10,746
ESUESESRANLE2E 49,326 51,126 21,800
207 AR 16,200 18,000 21,800
01 H7ESHI 16,200 18,000 21,800
O=gZtz, EXOISKZAN X 2T
£ AN 2 16,200,000 * 14l 16,200 18,000 21,800




A QHEX
33 N5E g IHAH
Chel: Helst XNZZE2e] EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
NEZE 2 NEHE22L) 78,018 65,472 12,546
01 QI24H] 30,478 16,932 13,546
M IRIMZZ2HS e 30,478 16,932 13,546
ORUE &33AtY 1Y
76,9603 x2& »80! 12,314 0 12,314
O4liEERs S 12,313,600 *10% 1,232 0 1,232
405 AHAHESH 10,000 11,000 1,000
01 Tt =S F=H 10,000 11,000 21,000
o= stagaaz g 7Y
Z& 10,000,000 14] 10,000 11,000 21,000
dlglgt= EXl2tel 207,045 196,945 10,100
= 54,696 54,696 0
= 162,349 142,249 10,100
HeFgs g2=a 65,100 55,000 10,100
201 er2 3| 63,100 53,000 10,100
01 AtR2t2l] 63,000 53,000 10,000
ONLREGES HEHIE MEHMAN BS+=
= Z& 1,000,000 +502] 50,000 40,000 10,000
02 35244l 100 0 100
ORs4t 25 &« ol =2
1,000 1002 100 0 100
HESAIXDIL HRFX(EX) 54,696 54,696 0
= 54,696 54,696 0
201 LEer2 | 54,6%6 54,696 0
= 54,696 54,696 0
01 AtR2t2l] 40,304 54,6% A 14,392
OZESNZ R 3F 03 0 14,392 A 14,392
= 0 14,392 N14,392
2 s5=34l 14,392 0 14,392
OZESNZ REx=8
40031 %35,980H 14,392 0 14,392
= 14,392 0 14,392
C2EFAAY 208,302 208,722 2420
= 18,000 18,000 0
[ 8,436 8,436 0
i 178,902 179,322 2420
= 2,964 2,964 0
CEHIAANESAME (KA 80,580 81,000 2420
401 AlZBIL S CHY] 78,080 81,000 22,920
01 Al&ZHI 78,080 81,000 22,920
OFAEEAE S =M & KX2e 58,080 61,000 22,920
-ASHS T ZAEY
Zd 1,6002%16,675H 26,680 29,600 12,920
405 AtatE = 2,500 0 2,500




SA UHEX B
3o usd el ARdy
Hel T2EFAMY (SH9 H2)
A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
01 ML= FHSHI 2,500 0 2,500
OADIEKAIS(EHEE PC) +&
1,250,000 2 2CH 2,500 0 2,500
USE SHEE M= 56,900 63,337 16,437
SUEZAAIAEY 30,251 33,088 N2,837
201 LetEaY| 30,251 33,088 N2,837
R =23l 30,251 33,088 N2,837
OSHYESESAAE S22l
B3 21,463,000 14 21,463 24,300 N2,837
SUHEE 75 € 2 26,649 30,249 3,600
201 Ler2aY| 6,649 8,249 1,600
01 At 2teltl 6,000 7,600 1,600
OEEXSBH 2y
23 2,500,000 2 5,000 6,600 21,600
405 XHakF St 20,000 22,000 2,000
01 AL =S F S 20,000 22,000 2,000
oePs =8l 7Y
Z& 20,000,000 *1CH 20,000 22,000 2,000
BIED XIETHZAL AL 1,244,541 1,239,501 5,040
= 568,649 568,649 0
= 2,000 2,000 0
= 673,892 668,852 5,040
KIETHZEAALY =&(XHA) 673,892 668,852 5,040
201 Zer=2 Y| 73,892 68,852 5,040
01 Ak 2teltl 72,344 67,304 5,040
OXIHETHZAL XI72AH, =8 S SHERY|
& 29,0002 1. 1+407E 12,984 7,944 5,040
WS (QAEX L) 206 0 206
L SPAE 206 0 206
=CHISEE= 206 0 206
802 Eret=IIEr 206 0 206
01 =nEx3EE= 205 0 205
O=DE ALY THXH 4 0
K= EAALY F=& 3,200& 4 0
O=1NZEZAIY 2H0IXt 201 0 201
IEAHSEARK e 3HINEA
25,3102 26 0 26
A&t 8602 1 0 1
HESAIRIL R 44,2108 45 0 45
KW EAALY =& 128,070 129 0 129
02 Al - THIE X3S 1 0 1
OZHIEZAIY 201Xt 1 0 1
-XIETHZAALE =& X2 2108 1 0 1




